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Zadatak 43. Pod kojim kutom dani pravac siječe dane kružnice?

1) x + y − 7 = 0 , x2 + y2 = 25 ;

2) x − 3y − 5 = 0 , x2 + y2 − 2x + 6y + 5 = 0 ;

3) 7x + 2y = 100 , (x − 10)2 + (y − 15)2 = 45 ;

4) 3x + y + 2 = 0 , x2 + y2 − 4x + 6y − 12 = 0 .

Rješenje. 1) y = 7 − x

x2 + 49 − 14x + x2 = 25

2x2 − 14x + 24 = 0

x2 − 7x + 12 = 0

x1,2 =
7 ±√

49 − 48
2

x1 = 4, y1 = 3

x2 = 3, y2 = 4

xx1 + yy1 = r2

4x + 3y = 25

y = −4
3

x +
25
3

tg ϕ =

∣∣∣∣∣∣∣
−4

3
+ 1

1 − 4
3
· (−1)

∣∣∣∣∣∣∣ =
1
7

ϕ = arc tg
1
7
≈ 8◦8′

2) y =
1
3

x − 5
3

, p = 1 , q = −3 , r2 = 5

x2 +
(

1
3

x − 5
3

)2

− 2x + 6

(
1
3

x − 5
3

)
+ 5 = 0

x2 +
1
9

x2 − 10
9

x +
25
9

− 2x + 2x − 10 + 5 = 0

10x2 − 10x − 20 = 0

x2 − x − 2 = 0

x1,2 =
1 ±√

1 + 8
2

x1 = 2, y1 = −1

x2 = −1, y2 = −2

(x2 − p)(x − p) + (y2 − q)(y − q) = r2

(−1 − 1)(x − 1) + (−2 + 3)(y + 3) = 5

−2x + 2 + y + 3 = 5

y = 2x
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tg ϕ =

∣∣∣∣∣∣∣
1
3
− 2

1 + 2 · 1
3

∣∣∣∣∣∣∣ = 1

ϕ = 45◦

3) p = 10 , q = 15 , 7 · 10 + 2 · 15 = 100 =⇒ pravac prolazi središtem
kružnice pa je ϕ = 90◦ .

4) y = −3x − 2 , p = 2 , q = −3 , r2 = 25

x2 + (−3x − 2)2 − 4x + 6(−3x − 2) − 12 = 0

x2 + 9x2 + 12x + 4 − 4x − 18x − 12 − 12 = 0

10x2 − 10x − 20 = 0

x2 − x − 2 = 0

x1,2 =
1 ±√

1 + 8
2

x1 = 2, y1 = −8

x2 = −1, y2 = 1

(x2 − p)(x − p) + (y2 − q)(y − q) = r2

(−1 − 2)(x − 2) + (1 + 3)(y + 3) = 25

−3x + 6 + 4y + 12 = 25

y =
3
4

x +
7
4

tg ϕ =

∣∣∣∣∣∣∣
−3 − 3

4

1 − 3 · 3
4

∣∣∣∣∣∣∣ = 3

ϕ = arc tg 3 ≈ 71◦34′ .

1016




